(20)

21

(22)

(23)

(24)

[ D-Structure ]-—P[ S-Structure ]-—P[ Logical Form (LF) ]

v
[ Phonetic Form (PF) ]

LREIYVIVRX  DBEMNS LFETOIOCR, ZREEDHESE
B8 - FEREMRTR | PR. SRR DMEE

DRHR) (trace) DEA

BENTERNBET 5&. TAUBICIEZ DRI ES

- KEBEILCEVWTHRBEZEOEBEIMMRFSNTED, > TREBELITICEDNWT
BERBIRD TR D

a. KRR BEERAZ B8 &WS—MRIREICH— ' Move «a

b. BBOEREHIE. BBOBREASI NS T5E1TH - Rl BROBERGFELT
wHEND 1 RROEFRN

c. RIFD&L S "Z28EE (BRZRLBVWER) OD0heXEd 5RER. BERICLS

SEAEM . ERNNBOREIENEL

a. [ is loved Mary |

b. [ Maryi is loved ti ]

c. [ is likely [ John to leave tomorrow ]] cf. Ttis likely that John will leave tomorrow.
d. [ Johni is likely [ ti to leave tomorrow ]]

e. [ you like what ]

f. [ whati do [ you like ti ]]

g. [ the man [ (that) [ Mary loves who ]]]

[ the man [ whoi (*that) [ Mary loves ti ]]]

a. who do you think that Mary believes that Bill loves
b. [ who do [ you think [ t3 that [ Mary believes [ 2 that [ Bill loves t1 ]]]]1]
C. Chain = (who, 13,12, 12, t1)

BFEIRZE) successive cyclic movement
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(25)

(26)

27)

(28)

a. *who do you like the man who respects cf. I like the man who respects Gandhi
b. [ who do [ you like [ the man [ who [ t respects t1 ]]]]]
c. Chain=*(who, tI)

BEOBATE locality + f/\E minimality ZEHEDBEIEREE UTIRA S

B TOIBFMEEM)  psychological reality:  wanna f&# D ZEw

a. Who do you want to shoot?

b. who do you want [ to shoot t ] cf. I want to shoot Bill.
c. who do you want [ t to shoot | cf. I want Bill to shoot.
d. Who do you wanna shoot?

e. who do you want [ (*t1) to shoot t2 ]

tl BNET B &, want-to DFEFHINBEIEE NS

T#%F Subjacency Condition :
B8 31E5H = Bounding Node Z — DL ERIRFICHBZ 5 Z ENTERRL,
22U, BRER =1P,NP

a. Who do you expect that Mary will marry t?
b. [cP who do [1P you expect [CP 2 that [TP Mary will marry t1 ]]]]
c. *Who do you know whether Mary will marry t?
d. [CcP who do [1P you know [CP whether [IP Mary will marry t1 ]]]]
e. *Who do you like the rumor that Mary will marry t?
f. [CcP who do [1P you like [NP the rumor that [P Mary will marry t1 ]]]]
CP
o
T
C P
do T
NP r
you T
1 VP
/\
A% CP
expect T
c
A
C 1P
that T
NP r
Mary T
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29) a. *Which book did you meet [ the man who wrote t ]?

b. EEHF [ EORZEZEWNAN ] ILE-7ZD
(30) a. KEEICIE Wh #2E) (Wh-movement) HY3 %,
b. HAEIC I Wh BEIH R,

(31) TEXHEBEOEREZETH S,

(32) a. IARNTDSEICIE WhBEIHH D,
b. (30a,b)DiEW L. WhBEIDBERAL NIV (§143X00) OEZVWERERULTWS,

(33) D#E —@EENEE)—~ SHBE —CEREN®E)—~ LF
2
PF

SEELDENCEALBENIE T8, BRICERULLBEIIR TREN,. £55ICLTH
BonsEHKEE (LF) FEU,

(34) a. EHSHICES =D cp
b. [cP I [P BlE t o ] D ] SPec/\C’
c. B [ COREBVIA | ICRo7D Y
d. [cP EDE%E [P BlE [Nt EWA ] IRk 1 D] NP/\P o
= A Py
VP I
P -
NP Y
t =3
(35) a. TEFHIFEEN (AJEN) BEBOBEBAEHETH D, (?)
b. THERXEIBEOBEARETH %,
c. EBEENBH TIITERGERZRET 5 LS HEAT— RHAAEE

(36) Pied-Piping (FEREEEE)

a. Whom are you talking [PPto t ]2 (P-stranding B & a7%E8)

b. [PP To whom ] are you talking t ?  (Pied-piping)

c. ZEHIE N EDXRZEWEAN ] IKESED

d. [CP[NP EDERZEZWA JIP EHE t K7D J]  of. TORZEFWALK
(38) a. RECOHIBEENBBITERMERZEBTE S ?

b. RETIIIEEN Wh BEIDEBNTH D, IFEENBHIELE Wh BERXICEITS

Wh-in-situ (TEHIBICE EE S Wh) I U TERES NS,
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(39)

(40)

(41)

(42)

(43)

(44)

P

*You bought what?

What did you buy t?
(echo question %% & Z R <)

Who bought what?
[CP whoi [IP ti bought what ]]

[CP whatj [CP whoi [IP ti bought tj ]]]

Qui as tu vu?

Tu as vu qui?

TIVAITEE
Koj kogo kude vizda (who whom where sees)

R—Z > REE

Maria zastanawiala sie, kto co przyniesie (M. wondered who what would-bring)

*Which book did you meet [ the man who wrote t ]?

‘Who met [ the man who wrote which book ]?

[cP [NP the man who wrote which book ]j [CP whoi C [IP ti met tj ]]]

[the man who

wrote which book]j

CP

T
Cp

/\
whoi C

John met someone. d.
for someone x, John met x e.
dx [ John met x | f.
x = Z#. ZIH(variable)

L

VvV, 3 = JEEF(operator). ={tF(quantifier)

V: £ME1bF (universal quantifier)

John met everyone.
for everyone x, John met x

V x [ John met x |

3J: FHEELF (existential quantifier)

EEFNERDEZIEET S (RiET3) I &T. FA X (open sentence) & EIR(E%

¥ Dt (proposition) IC 78 % o

14




(45)

(45)

(46)

(47)

(48)

a. x+3=7

b. forx=2,x+3=5

c. you bought x = True or False?

d. for everything x, you bought x = True (or False)

a. John bought a book.

b. dx [[ x is a book ] & [ John bought x ]]

c. John bought every book.

d. Vx [[ xisabook] — [ John bought x ]]

a. What did you buy? d. Which book did you buy?
b. for what x, you bought x e. Wh x [[ x is a book ] & [ you bought x ]]
c. Wh x [ you bought x ]

([ you bought x |Z EDMRRICT D & 57 x DIEIEAH)

Wh BEIIC & > TSN DEHE (wh,id. ERERE. WhEEF (Wh-operator) & Zhic
K> THREEINDZTH (FREZE bound variable) & U THEEET %,

a. BfRET (ERFHI)
a man [CP who C [IP you met t ]]
a man [CP Op that [P you met t |] Op: null operator ZZEHE F
aman [CPOp C [P you met t ]]

* a man [CP who that [IP you met t ]]

...CP
b, BIMRER CRERSH) s
who, which C

abook [cP Op C [1Pto read t ]] { Op T

* a book [CP which C [IPto read t ]] Cl+/-Fin] Ip
that T
* a book [CP Op that [IP to read t ]] { P {PRO r
* g book [CP which that [IP to read t ]] for Lyou T
I[+/-Fin] VP
a book [CP Op for [IP you to read t ]] o~
\% t

c. tough #X (¥ 530
John is easy to please.
John is easy [CP Op C [1Pto please t ]]
This book is hard to understand.

This book is hard [CP Op C [IP to understand t ]]

15



(49)

(50)

(51

(52)

(53)

(54)

af2E Movea): FEDODERZIEDMNENBET L,

MO TOEXERIN construction-specific RZEFRAUNBEIITNT "BE & WD E—REITRTT,
Bimb, B BEELRV. BREUVTEUZEERROSKERELD S, ZOEMRA NI L
DEBENEE,

cf. X LE Construction Grammar

a. NP #%&) NP movement

b. Wh # &) Wh movement (CEEFEH)
c. FEE#EE Head movement

a. seems [ John to lose the race | —

b. John seems [ t to lose the race ]

c. is respected John —

d. John is respected t

a. I wonder [ you bought what ] —

b. I wonder [ what you bought t ]

c. I know [ the man [ John admires who ]] —
d. I know [ the man [ who [ John admire t ]]
a. [ you are happy ] —

b. [ are [ you t happy ]]

c. [ you not [ are happy ]] —

d. [ you are not [ t happy ]]

aBHZB/FIRICEAT 2&. IEXHER> TEMKICER I NS GBREILERL overgeneration) o

ENSTNERBEARICEREBOEEMERICKL > THRRE 1 %,

RRICEE SN2 HAEMH output condition & U T, IS DREBEEIIMIZ U THBET 5 3ESRFT
(Eva—Jl) #8BLTWS, —EY21-ILXE

NREBE/NNFA—=H D7 7O—F 1 P&P Approach
REMZ UG IEDHED
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